EXHIBIT KMM-3

Benchmarking AEP-Ohio Portfolio Plan Against Pennsylvania Portfolio Plans to Meet Act 129 Requirements

Exhibit KMM-3

Benchmarking AEP-Ohio Portfolio Plan Against Pennsylvania Portfolio Plans to Meet Act 129 Requirements

Company	Planned Spending	Annualized Reduction in Energy Consumption kWh	Reduction From Annual Baseline Use (%)	Total Resource Cost
Allegheny Power	\$94,250,000	647,434,000	3.10%	4.10
Duquesne Light	\$78,183,806	571,350,000	4.07%	2.90
PPL Electric Utilities Corp.	\$246,007,000	1,361,979,000	3.60%	2.79
Metropolitan Edison Company	\$85,208,473	458,243,000	3.10%	2.46
PECO Energy Company Pennsylvania Electric	\$328,600,000	1,275,360,000	3.24%	1.81
Company	\$74,990,951	447,917,000	3.10%	2.32
Pennsylvania Power Company	\$25,172,832	146,032,000	3.10%	2.08
Total/Average	\$932,413,062	4,908,315,000		2.64
AEP-Ohio	\$161,900,000	385,800,000	1.65%	1.80

EXHIBIT KMM-4

Average Variable Distribution Revenues for Commercial and Industrial Customers

Exhibit KMM-4

Average Variable Distribution Revenues for Commercial and Industrial Customers

Ohio Power Company

		Distribution Energy		
Tariffs	Billed Energy	Charge \$/kWh	Average Revenue	Average Rate
GS-1	377,835,734	\$0.0027990	\$1,057,562	
GS-2	3,396,500,724	\$0.0003512	\$1,192,851	
GS-3	6,270,406,700	\$0.0003512	\$2,202,167	
GS-4/IRP	9,078,079,578	\$0.0003512	\$3,188,222	
EHG	24,722,283	\$0.0132863	\$328,468	
EHS/SS (1)	53,240,470	\$0.0124738	\$664,111	
Total C&I	19,200,785,489		8,633,380	\$0.0004496

Columbus Southern Power Company

		Distribution Energy		
Tariffs	Billed Energy	Charge \$/kWh	Average Revenue	Average Rate
GS-1	360,482,848	\$0.0147707	\$5,324,584	
GS-2	1,823,820,357	\$0.0003805	\$693,964	
GS-3	7,251,062,590	\$0.0003805	\$2,759,029	
GS-4/IRP	4,833,644,759	\$0.0003805	\$1,839,202	
Total C&I	14,269,010,554		10,616,779	\$0.0007440

This foregoing document was electronically filed with the Public Utilities

Commission of Ohio Docketing Information System on

2/11/2010 2:10:13 PM

in

Case No(s). 09-1089-EL-POR, 09-1090-EL-POR

Summary: Testimony Exhibits KMM-3 and 4 to Direct Testimony of Kevin M. Murray filed by Lisa G. McAlister (Part 4 of 4) electronically filed by Ms. Vicki L. Leach-Payne on behalf of Industrial Energy Users-Ohio